Newton’s Second Law Exercises
1. A cat that has a mass of 16kg is accelerating at 6.2m/s2.  What is the force of the cat?

2. Kermit the frog produced 23N of force when accelerating 4.5m/s2.  What is Kermit’s mass?
3. Miss Piggy has a mass of 6.3kg and produces a force of 60N.  What is Miss Piggy’s acceleration?

4. Fozzie the Bear has a mass of 25kg while accelerating at 2.7m/s2.  What is the force produced by Fozzie the Bear?

5. Find the mass of Rizzo the Rat if he produces 53N when accelerating at 8.5m/s2.
6. Find the acceleration of Gonzo the Great who has a mass of 46kg and 62N of force.

7. Bunsen and Beaker are playing in a lab.  Bunsen has a mass of 53kg while Beaker has a mass of 43kg.  Bunsen produces 54.3N of force.  Beaker is accelerating at 3.2m/s2.
a. Find the acceleration for Bunsen.

b. Find the force produced by Beaker.

8. Animal crashes his left hand onto the drum.  His hand produces 15N of force when it is accelerating at 51m/s2.  What is the mass of his hand?
9. Find the acceleration of Big Bird if he has a mass of 75kg and produces a force of 150N.

10. Find the mass of Oscar the Grouch if he can produce 75N when accelerating at 0.90m/s2.

11. Elmo and Grover are being launched from cannons.  Elmo has a mass of 25kg; Grover weighs 67kg.  Both Grover and Elmo are being launched at 3.5m/s2 at a 45 degree angle.

a. Find the force that Elmo can apply.

b. Find the force that Grover can apply.

12. Bert and Ernie are jumping on a 25 foot diameter trampoline.  Bert, who masses 56kg, is accelerating at 4.5m/ss.  Ernie is accelerating at 5.4m/s2 and applying a force of 50N.

a. Find Ernie’s mass.

b. Find Bert’s force.

13. Cookie Monster loves cookies, but has recently been eating carrots. In addition to turning slightly orange, Cookie Monster’s mass has decreased to 80kg.  Cookie Monster is chasing Oscar (who has a 1.0kg cookie) and is accelerating at 14m/s2.  What force could Cookie Monster apply to Oscar?
14. The Count is tired after counting up to 6.02 x 1023 in honor of Mole Day.  The Count can apply 150N of force if he weighs 34kg.  What’s The Count’s acceleration?
